
NOTES 10.4 – INSCRIBED ANGLES 

INSCRIBED ANGLE: 

 

 

 
EXAMPLE 1:  Name ALL of the inscribed angles and their 
                       corresponding intercepted arcs below. 
 
Inscribed angles/Intercepted Arc: 
 
____________________________ 
 
____________________________ 
 
____________________________ 
 

THEOREM:  If an angle is inscribed in a circle, then the measure of the  
                     angle is half the measure of the intercepted arc. 
 
EXAMPLE 2:  Given that 𝒎 𝐁𝐂 = 𝟏𝟎𝟎°, find the value of ‘𝒙’ in  

                       𝒄𝒊𝒓𝒄𝒍𝒆 𝐎.  
 
 
 
 
 

     𝒙 = _______________ 
 

THEOREM:  If two inscribed angles of a circle or congruent circles  
                     intercept congruent arcs or the same arc, then the angles  
                     are congruent. 
 
EXAMPLE 3:  In 𝒄𝒊𝒓𝒄𝒍𝒆 𝐐, 𝒎 𝐒𝐓 = 𝟔𝟖°. Find the 𝒎∠𝟏 and 𝒎∠𝟐. 
 
 
 
 
 
 

𝒎∠𝟏 = _______________𝒎∠𝟐 = _______________ 
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THEOREM:  If an inscribed angle of a circle intercepts a semicircle,  
                     then the angle is a right angle. 

EXAMPLE 4:  Find the value of ‘𝒙’. 
 
 
 
 
 
 
 
 
 

𝒙 = _______________ 
 

EXAMPLE 5:  In 𝒄𝒊𝒓𝒄𝒍𝒆 𝐀, 𝒎∠𝟏 = (𝟔𝒙 + 𝟏𝟏)°, 𝒎∠𝟐 = (𝟗𝒙 + 𝟏𝟗)°,  
                       𝒎∠𝟑 = (𝟒𝒚 − 𝟐𝟓)°, 𝒎∠𝟒 = (𝟑𝒚 − 𝟗)°, and 𝐏𝐐 ≅ 𝐑𝐒.   

                       Find 𝒎∠𝟏, 𝒎∠𝟐, 𝒎∠𝟑, and 𝒎∠𝟒. 
 
 
 
 
 
 
 
 
 
 
 
 

𝒎∠𝟏 = _______________ 
 

𝒎∠𝟐 = _______________ 
 

𝒎∠𝟑 = _______________ 
 

𝒎∠𝟒 = _______________ 
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Notes 10.4 – Inscribed Angles (Continued) 

THEOREM:  If a quadrilateral is inscribed in a circle, then its opposite  
                    angles are supplementary. 

EXAMPLE 6:  𝑸𝒖𝒂𝒅𝒓𝒊𝒍𝒂𝒕𝒆𝒓𝒂𝒍 𝐐𝐑𝐒𝐓 is inscribed in 𝒄𝒊𝒓𝒄𝒍𝒆 𝐂. If 

                       𝒎∠𝐓 = 𝟗𝟓°, 𝒎∠𝐒 = 𝟏𝟎𝟎°, 𝐓𝐑 = 𝟏𝟔𝟎°, and 𝐐𝐒 = 𝟏𝟕𝟎°,  
                       find 𝒎∠𝐐 and 𝒎∠𝐑. 
 
 

𝒎∠𝐐 = __________ 
 
 

𝒎∠𝐑 = __________ 
 
EXAMPLE 7:  Find the value of the inscribed angle. 
 
 
 
 
 
 

EXAMPLE 8:  Find the value of ‘𝒙’. 
 
 
 
 

𝒙 = __________ 
 
EXAMPLE 9:  𝑯𝒆𝒙𝒂𝒈𝒐𝒏 𝐀𝐁𝐂𝐃𝐄𝐅 is inscribed in 𝒄𝒊𝒓𝒄𝒍𝒆 𝐎. All sides 

                       of 𝐀𝐁𝐂𝐃𝐄𝑭 are congruent. Find the following. 
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a) 𝒎 𝑪𝑫 = _______________ 
 
 
b) 𝒎∠𝑩𝑭𝑬 = ______________ 

 
 
c)  𝒎∠𝑩𝑪𝑫 = ______________ 


